[ 1@ g edx = £ 9@ - [ /- gxdex
[ e*sinxdx =
f(x)=e* g'(x) = sinxdx
f'(x) =e* g(x) = —cosx
fexsinxdx = —excosx—fex(—cosx)dx
fexsinxdx = —excosx+fexcosxdx
f(x)=e* g'(x) = cosxdx
f'(x) =e* g(x) =sinx
fe"sinxdx = —e*cosx + e*sinx — f e*sinxdx
— f e*sinxdx przenosze z prawej na lewa strone réwnania, zmieniajac znak na +
2 j e*sinxdx = e*sinx — e*cosx

1
f e*sinxdx = Eex(sinx —cosx)+C

[ e*cosxdx =
f(x) =e* g'(x) = cosxdx
f'(x) =e* g(x) =sinx

fe"cosxdx = e*sinx — f e*sinxdx

fx)=e* g'(x) =sinxdx
f'(x) =e* g(x)=—cosx
fe"cosxdx = e*sinx — [—excosx — f(—ex)cosxdx]
fe"cosxdx = e*sinx + e*cosx — J e*cosxdx
2 f e*cosxdx = e*sinx + e*cosx

1
f e*sinxdx = Eex(sinx + cosx) +C



8. [sin?xdx =

f(x) =sinx g'(x) = sinxdx
f'(x) = cosxdx g(x)= —cosx

fsin2 xdx = —sinxcosx — f(—coszx)dx

f sin? xdx = —sinxcosx + f cos?xdx

fsin2 xdx = —sinxcosx + f(l — sin?x)dx

jsinz xdx = —sinxcosx + f dx — fsinzx dx

2 f sin? xdx = x — sinxcosx

1
fsin2 xdx = > (x — sinxcosx) + C

9. [cos?xdx =
f(x) =cosx g'(x) = cosxdx
f'(x) = —sinxdx g(x) = sinx
cos? xdx = sinxcosx — f(—sinzx)dx
cos? xdx = sinxcosx + f sin?xdx

cos? xdx = sinxcosx + f(l — cos?x)dx

—_— —— — —

cos? xdx = sinxcosx + f dx — f cos®x dx
2 j cos? xdx = x + sinxcosx

1
j cos? xdx = 5 (x + sinxcosx) + C



